Question :

Find the exact value of the line inteqrel
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Whare ( is the Counterclockwise Oriented driangle with uvertices ot

.0), Cl,o) and co, 2>.

Solution :

Method. | :

Assume (o) = Q_Pd”"‘ oLy, and then
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Ox= 20— 2y sec*(y).
Mence, Ox - By = %
By Green's Theovem,
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Method 2. A.l'bemabiuel«g , assume

Alw.o B9 %

Region D= {(%,¥): 0sxs], osas-zx-rzj

(a) = écPd” —+ Qdy, and then

B = =0 - 2y sec*y2),

Qx= 20— 2y-sec*y) .

By inspection, ;:r we want the JCMa.(, R = Q@x,

we (2n add % to the original P, (or add -x v the original @x),
= a.dd.%g 50 P (or add "5_,_3- to R).

> () + \‘ﬁr_xydz- =0 (or (a)+ \i'"-%;dj = o).

= (A) = 0- \fcx,ya(x
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Rema.yX :
(). In Method 2, dovt Can aiso eyuivalen-y Select to do the jinw Cod culation :
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(2). For this question , Method ) and wmethod 2 both don't involve Cmplicatecl
Calcubation , So they oare both \fin.e .
Buzs generatty Speakinj, st Showld be Simpler o opply Green's Theovem

diveoblj to tackle the line ;‘mﬁejm& ab:vj +he Closed Curve.



